01.

02.

03.

04.

05.

06.

X =2+ V=3 W, W 3x* — 17x® + 41x% — 35% + 5 7 T BT 77
w1x=2+i\f§=#(x-—2)=iﬁ:}(}{—Z)z=i2(3)=:-}{2—4-x+4=—3‘:} x*—4x+7=0
Now, 3x* — 17x3 + 41x2 — 35x + 5 = (3x* — 12x° + 21x?%) — 5%° + 20x? — 35x + 5

- 2

= 3x (xz—4x+?)—5x3+20x2—35x+5=3x2x0—-5x(x2—4x+?)+5=5(An5-)

X+ 4 3 3
X-q99NYEHIFq| 3 x+4 5 |=0
5 5 x+1
X+ 4 3 3 1 3 3
TN | 3 x+4 5 |=90 [Ci=C—-Cl=>x+1|[-1 x+4 5 |=0
5 5 x+1 0 5 x+1
1 3 3
= (x+ 1) g x-g? 8 [=0[r=r+rp]=>E+D)[E+7)(x+1)—-40]=0
Xx+1

= (x+ 1)(x* + 8x — 33) = O0=>(x+1)x+11)(x—3)=0 x=-1,-11,3 (Ans.)

ﬂﬁy=2x+3x2+4x3+......... mm!x=1_iyz +iy3__ PEEp
y 8 16
TN 14y = 1 + 2X + 3x2 + 4%3 cee e =>1+y=(1—x)‘2=¢(1+y)=(11)=
-X
1
:-:l—+5=(1~x)2:>—1f=1—x:>1—x=(1+y)"%
(1+y)2
w14 (=D @G o BE0E2)
=1 x-1+( Sy + 20l y2 p S2LT T sy,
—x=1—2y43y2_534 ... Cx=ty 3 >
=>1l-x=1-cy+_y'——y*+ LX=y Eyz-i—ﬁyz—------(l’ruved).
) 1~ (logey)® |, (logey)* ,
o y o+ 5= 2 [14 DLy Lokl oo

‘v = elogey — 1 4. 108eY | (ogey)? . (logey)® . (logey)* -
TANFLy =esfed = L= +=—a T m. T @a T wgzte )

'8y — g-logey — 1 4 (C108e¥) | (10gey)” | Clogey)® | (logey* |

I —

y 1! 2! 3y 41 T e
1 _ (—logey) , (logey)? | (ogey)® , (logey)* 3

; —_— 1 — 1! + 2! + 3! + *! IINIT R+ NITRYTINTY (11)

2 4
M)+ @)=y +$= 2 [1 + ﬂ“g;f] + ﬂ"g_:!'ﬂ + m] (Proved).

4 (ai +bj + k) x (2i+2)+3k) =i j T, O a g b 7 7 Fifar a1

k
HA(:

B R e
G T 1

1
3
TN ACF i 8 j G D AAPO A1, 3b—2=1, 3a—~2=1, 2a—2b=0

=b=1 a=1a=b &€ FATA T (coherent) [a=b=1] -.a=1,b=1(Ans.)

e 2x+ by +4 =0, 4x—y —2b =0 ¥ 3x +y — 1 = 0 I WY W OW& b G Nt Fdm a1

2 b 4
STy TR @A S, 4 —1 —2b| =0=2(1+2b) —b(—4+ 6b) + 4(4 +3) = 0
3 1 -1

—»2+4+4b+4b—6b2+28=0= —6b*+8b+30=0=3b?-4b— 15 =
43/T6¥180 _ 4:VI96 _ 4314 5 5 o 4 5
i - [ 31 [ 3

::*b= 6 6 6

=1(3b—2)—j(3a—2) +k(2a—2b) . i(3b —2) — j(3a — 2) + k(2a — 2b) = i — |




08.

09.

10.

11.

12.

13.

x+y-11=0

y = x Jeeeadt SR P (5, E)ﬁ’@ﬁﬁﬁmWﬁ@ﬁl
mmy-x-aa%ﬂaﬂﬂmﬂxw k, T P(5,6) A=Ak =11
x+y—11=08y = x 99 AR 2y — 11—n=>y—-—1,x—y=i‘i
- ey (2,5), efeRw Q(a b) T,

PQ qumﬁﬁ(““ o) = (2, )= a=6 b=>5, ofSRH (6.5
(1,2), (4,4) 932 (2, B) TRIFTH frger ABC 9 JEEEE 4 | ABC fag=iod crage Adm <)

s €, D=(1,2), E=(4,4), F=(2,8) A

X=Y
(11/2, 11/2)

Q(a, b)

-. ADEF = -(1x4+4:-:8+2>:2 Ix4 — 4x2 — Bx1) = 8 T AFF D E
WDEFEWW AABC = 4xADEF = 32 3f 3% B Y C
afif sinx 4 siny = 1 @32 cosx + cosy = 0 S AT FIA, X +y =T

A sinx + siny =1; 2 sm—:”«:::ns;:'r =1....(i); cosx+cosy =0; 2 cﬂs—ycus—z-x =0.... (ii)
Xty = i H—F=- :x +y == (Proved)

(if) TS, cos—= # 0 T O 1 A (1)ﬁﬁ'{ﬁ7ﬂl .cos=X=0=cos;;
o6 P HER YIS ST G cos2a = 3o Z0, &I 9 ¥, tana. = +\/_tan[3

3—cos2p

Ei_tanzﬂ 1 2 2
3cos2f—1 1-tan?a __ “1+tanp _ 3-3tan? f—-1-tan®?p _ 2—-4tan‘p _ 1-Ztan"p

FHY: cosza = 3-cos2p = 1+tan?a 3 1"13_.!“2_E 3+3tan?p-1+tan? P T 244tan?p "~ 244tanZp
1+tan<f

1-tan®a _ 1-2tan?p 2 (e REsH] = tan? a = 2 tan” B= tana = ++/2tan (Proved)

— 1+tan?p 1+2tan=|3 Etanza:r. tanzﬁ

P, 2P, 3P TItw4 oAb <& “Ieiq 120° (e S F @36 f{rqrs SIS =itz aTa wife IEE W @ e R
AAYE: P nﬂaﬁafw%vnﬂtﬁm ScosB = Pcos0° + 2Pcos120° + 3Pcos(—120°) [fo@ B247]

=P-P-— EP == 3p . p a7 =g e Softeef T, Ssind = Psin0° + 2Psin120° + 3Psin(—120°)
2P

3P—ﬂp=1ﬁp .
) 120°
S= FJ —~ 3 F'J_ V3P “120°(323 0 > p
120°
0 = tan*l—i-—— 180° + tan™ 1?= 180° + 30° = 210° (Ans.) .
mﬁmﬁﬁ%@mﬁﬁWRaawmﬁwwﬁ%ﬁwﬂ ot 414
B%ef h @32 h, TCE A8 @, R = 44/hh, |
AT R #AETe & 920 Meead @it o TF o[ 2 —a
h = u?sina - “251111(‘;_'3) __u?cos’a
T o2 Tl 2g - 2g
2 . F'4 2 2 2 2z 2
"ﬂﬁT. R = u 5[;2:1 — 2u singm:nsn — Z‘JU*SIE E:cns a = 2%2 Ju E‘:;i au E:: o e 4Jh7}11 (PI‘D?Ed)

a5 97 ST 25ft/sec? QAT G A 5ft/sec? TG 5T & 1 R (T 192t Y WfSwT T Ao
R AT oS e fBm a9

sisee?
>8, 5ft/sec
W: ﬂﬂw 25&/5EC2 y; )I( N
dq dz
GBI, v2 = 02 + 2 x 25d; = d; = —; TWA9E, 0 =+ v? —2x5d,=>d, = ..,.2

2 z
d=192=d, +d, = -ﬁ+-:—ﬂ=v2%:rv = 1600 = v = V1600 4ﬂftjsec(ﬁns)

v
o b — iV v_ 6 1
Altﬂfﬂﬂtﬂ-t~t1+tz-;§+g=z—:;Exvxt=192#%xvx-2—:=192:.v=40ft5'1 M\ .

"\_.'.—-'l-_.u..-_l-"

R CGEE-CHE RTT L 5 b L | 8




14.

15.

16.

17.

*18.

e3* sin? x 99 nth derivative ﬁﬁ'ﬂ‘ﬁ[l

rv= o3 einZw — 1 35 a_, 1 1 1
Ty = e3%sin }:—-EE X 2sin? x == e¥(1 — cos2x) =-2-e3"—5e3‘c052x.

— o3X cin2
P= €7sIn®2x. ; p; = 3e¥cos2x — 2e¥* sin? 2x.= e%*[3cos2x — 2sin2x]

ﬂﬁl,rcnsﬁ=3;rsin8=2 - I‘=‘v’32+23=\fﬁ

P1 = r[3e™ cos(2x + 8) — 2e3* sin(2x + 0)] = re3*[rcosd cos(2x + B) — rsind sin(2x + 6)]

= r’e®*cos(2x + 26) .. p, = r"e3x cos(2x + nf)

1
LY== [3“E3“ — r"e¥ cos(2x + nB)); G, r =130 = tan™1 >

‘iﬂﬂﬁ‘fﬂ :
E z (I-INRE-—Z.-:

. J-.'-.I I:l:{ . f d_x
2 (x-1)VxZ-2x ' Y2 x-DJVx-1)2-1

3

‘ﬂtﬂﬁiﬁ X—1=1z .. dx=dz; X=29M,z=1:2z2=3 A, z2=2

3

2 d
fl 1.'.,i—"[seur: 17)? [5&:‘12—5.9;:“11]:5-—[}:5

i%w%wsj;;_—e_—xgdx AP $I

3

xZ eldz
Wiif:—fﬁdx=if —dz [z =x%;dx = 3x%dx] = 1:_1
3

=2 xIn |[Z22| +e [o oo gwe] = 2In|S5=H + ¢ (Ans.)
RS PR @ 1 o7y AR =7 59 93 67 I a9 (x) = =
W:*iﬁr X =e?=z=Inx f“(z)=ez_**:_":+2§

1 I z F 4 Z z

s fx) = f(z)——: f(z)—'—'-— z=1T,f'(z) =e—e—e + 2e

W‘EWWIE(Z)———I—:—U =e>0 .f=((2)>0 f(E)=E[}E=Em
=:»i iz-—[l [e® ¢0]:>—=zlz=>z=1::-lnx=1:>x=e

;. FIGMGT YU, e I x = e

ﬁ%ﬁﬂmfﬁﬁﬁmﬂmﬁmww: TATTAE T2 NS FH(Ors SfFt A Aoyt A612 T91 & MANSENT

weifie smfece Ao Frae IR T

@ = 1101001
SrGEr STere! 41618, 111) 1101001 (1111
111
1100
111
1010
111
111
111
p 4

-.1101001 + 111 = 1111 ..

(111) = 1x22 + 1x2' + 1x2° =44+ 2+ 1 = (74,
(1111) = 1x23 + 1x22% + 1x22 4+ 1x2°
=8+4+2+1=(15),,

(7)10%(15)10 = (105)4,
2|105
2152-1
21260
21130

2[6-1

213-0
2[1-1
0-1

». (105), = (1101001),

111x1111 = 1101001 FSrs| 61 41 Z&0 |




BUET &XIR<P

19.

20.

21,

22.

w23,

24,

e e W3 T/INT 7 x = 2.0 (ms™2) t2 + 3.0m QAN 4 T4 A1 3.0 CIEFTT 8 5.0 CUITET T

IFTANDF TS G IT©7
AAYI: vy = % = 4.0 (ms™2) t; (Vy)yezs = 4.0 (ms™2)3s = 12.0 ms™*

(Vy)i=ss = 4.0 (ms~2)5s = 12.0 ms™*

_ N -1
T T, 3, _ adt=ss=(vidr=as _ 20ms™7-12ms™" _ 4 g -2 (Ans.)

tss—tas 5-3

-7 TS FATgE TaIT e o SReTae @3 g-fEm cmw%ﬂﬁmmmmﬁwﬁmv
Tolaizfs g-ofp TS T© TR THR?

STIYI: TEIIE AL ARG, R+ h = (=

h = 4.22x107 — 6.4x10% .. h =3.59x10"m
G5 RSToF IR BT =771 7 AR I TA 7 L, TR % x ; SITas g0 A 92 I8 00T &9 Y

ST QA T, = Y > F =Y

T T dx TS FORIT Ul s e, dW = Fdx = — xdx
x=0 FOx=xMT IS ABFeFTW = [ dw = ﬂA
=1 [.z_]u =1yaZ, mﬁ%ﬂw%w@mww| (Ans.)

[9THFTT F© TS, W = F.E;ﬂ%§=‘&'ﬂmﬂﬂﬂ

a5 Go Wietrg Fei fAfers o wicimm o= ©fit o7 @ @ IRgR s 2 [ o1t JroRgR goire
FEIAT @I AT | AR 0.8 CIFT Z0A G2 (ST OF 64kg 2= Aiea el 93 397

TY: k = mo® = m (z?)2 = 64 x (3_:)2 = 3947.84 Nm~! (Ans.)

1000kg SR 93T SO 51t Al T3 73S T84 7274 0.10 932 571 T4 =9t 0.04 | Srgefinsw facs «iSifow T
TRON T T AT FAE A A ToCS &% FA? T WO F© 967 Que F40 A18I6a G2 2ms 2 FI?
SRYI: AN T Fpyyp = p mg = 0.1x1000x9.8 = 980N

ms 2 Gt STGHIN 37 = ma + F = ma + p, rﬁg = 1000x2 + .04x1000x9.8 = 2392 N

-, Gfefee 99 = 2392 — 980 = 1412 N (Ans.)
a5 ST FIETR 2femg e W3z Fitea S9Tiar IUFET 450K @92 350K &fS idcater 2fgm aft Tew zre
1K Cal O &% $0a O (i) &fS ARt Fes s wief (i) 2femba wwst g3e (i) 2fS TRt e e
sifgrmret frsfr 5901 [ ] = 4.184 kJ/K cal]
AYE: (i) Q; = 1K Cal = 4.184 kJ
(i) 7rern=1-12=1-22=2222% (Ans.)

T 450Kk

1 1
< 7x10~11%5.98x10%¥x(B6400
GMY ) (55 X “4 :a:r ( *Y? = 423x10"m
o

0 _ T 350k
== = Q= Quzf = 1K Cal x5 = 0.78 K Cal

-, gfere ot 0.78K Cal (Ans.)
(iii) &S bwF FifTS F1& = Q; — Q; = (1 - 0.78) K Cal
— 0.22 K Cal = 0.22x4.18 k] = 0.92048 k] (Ans.)

TS : Gl = _.
ni R 232 ﬁ )i ofAqSTa ey Fave wvsar,,.




*25. 200gm SR 9% 7T ZUmfs ﬂﬁc:s T GRS TS FEE | t‘a‘aﬂﬁ EII“"I?{ = th oo NBTS 5o e @ar 1At

O ICTT T AT O, wfﬁwsimm?
T 90T o S, Q-—-—:u:--rm,!'2 91, mlf——x }{UZ}CZGZ |

26.

+27.
_ —B:Mtaam 340 Hzmmﬁﬂﬁwmm%wﬁﬁﬂwwcw 330ms>1

28.

29.

30.

31.

4x0.2x202

iy oX2Zx3.36x103 =9. 52;.;1[]"5[{3

W@tﬂm@ﬁmﬂﬁﬁmﬂﬂwﬁ?ﬁmﬂwm 22.42m3 |%Wﬁﬁmmwvﬁﬁitﬁmﬂﬁ

3.0k Cal/kg — mol — K =% 5(3 37 vitst Rfemtgy sl o Fdfa w1
[ |, WWW 13.6x103kg/m3, J = 4200 Juls/k Cal |

hpgv D.76x13.6x103%9,8x22.42
FAHYE:- R = =
nT  nT 1000x273 - . BBIBG]/E mo! ORI AT T et

Cy = 3 k Cal/kg mol = 3x1000 Cal/kg mol kg 3x1000x4.2 ] kg — mul

= 12600 ] /kg — mol — k = 125%° N
J/kg —mol — k = ——]/gmol k = 126]/gmnl(Ans)

Cp =C, +R=126+8.3186 = 20.9186 ] /g ol k - T,
aﬁ@BGDHzWWWMWWWWIWWWQWWW

A £ = YHU0 o f =y 340 = 33040 —-300 =330 —u, = ﬂanﬂ
V—uUg 330=
= —Ug = —38.82ms '=u, = 38, Bst

9L FHTFT 1215 1% Sarwa Sigel T 10-12Wm™2 e 10°9Wm-2) wwiﬁ?a@w m ﬁl%‘f el
3 (Gae | $© I? VLT s e - s L e
TAT: St BT =167 AB = log 2B = log 107 WmZ g _ 2B = 20dB-(Ans.) _ .
zsaﬁmmsnnwaﬁwﬁawmﬁm 10~3Wb m@wmmmaﬁmrﬁ%mmﬁﬁ
0.05sec @ [Ty ST =11 = ©F (i) asﬁtﬁwrﬁ? ﬂtﬁﬁmmw <, (i) qrﬁ?na ’a’a?ifr Errr.a‘t Q% W9 (iii) PSS
Hfre e A +4) -

“‘FITHTH'(DE—N ¢~ 200x “‘3'.;._;3=1nv | | g A e U DR (R G

_ No _ 500x10~3
1 2.5

(ii) I = —[_,I2 = —h{ﬂ 2x(2. 5)2 = 0. 625] | .
m@w WW iy 20uF, Wwwmu zvan%ﬁlaﬁtsr uﬂwmq@mmmﬂﬁﬁaﬂ

(ii) Np = LI = 0.2 Henry

2 | TS B % (A GETA 2AToITe W04y & T2 1?"1" '
2
Yl AT YIaee &t [59 Adsy =3 2V —I’%
QT Q; = C,V = 20x1076x2 = 4x107°C LU REI [NEETE R
SIS, Q; = Q; = Q3 = Qs =4x107°C 'i"l'%.'ﬁ‘_ S LA

qumqﬁf&gﬂwmaimﬁwmwmﬁw _
B calf5 2.4x10°ms™ WWWWWW?WWWﬂWWaﬁu%W

BT ©F = 1.7x10* kg ; STEH &9 (‘f‘ﬁﬂm) = 3, {]xlﬂﬂms
STyt SiCefirs oQ e, Eg = (m—mo)c? ;

- 1) Il'ﬁ,:,‘t:I = ( ( - B-) — 1}:1 7x10 27"::«:(3:v-c':l[}":")"? = 1 {}2;{10 1n]
o 1- |

|

2
P 2.4x10 )
{ i | | |
1-77 3x1008

1 - —
fAeorTe Aifoxf, Ey = %mv? = 2x1.7x10777x(2.4x10°) = 4.9x1071],
. Eg _ 1.02x1072° — 2.082 (Ans.) ST

" Ey 4.9x10~11

TS ST TRNT NG




32.

33.

34.

33.

36.

37.

38.

39.

A W =2t =7 ==

msf% (OHEFY IJCO 1078 ﬂmmu aﬁaaﬁqw 2000 fq= 1 souoﬁ—-l ﬁaw—mﬂw I ?

2693 2000

AAYL: Ooffest = — = e~M = eT1/2 = ¢7**5000 = 0.758 (Ans.)

U

BT 220O TFSIE I i 4.0 B [ IR @I 987 AT G 9 T I TR? AR SR

-, TGA “HFEd e SHie 794 = (4 — 3) = 1m

60° Gt RPR wle I5 e efomis 1.51 Sores @it o T [Rpfe e [? Jaea [Rpfs @dm 39
IS

T 1, =2 =2"=30°; i =sin"}(usinr,) = sin"(1.55in30°) = 48.6°

L i=tma 5, = 20— A = 2x4B.6° — 60° = 37.18°

4.0cm CFIFIT HIGE G0 SIS W4 (It F© M 2.5mm Swo @I 77 o 90T 1.0cm Twor [fFE I

afsfay #inayt qita?

v 1.0cm v 10mm v
m=-= — = —— = — = —- =
FTATI: u 2.5mm u — ~ 25mm W,‘J e
1 1 1 5
__|._—_ _+———:>———:> u = 5cm (Ans.)

f u o 4u 4 4u

30Q WerBAd @Y a0 TSR 500pA Sfe] kR Ff 7= [Rres @1 @R ATeeIRnEE 2mA
2RI AR ST FC0 F© TR *I16 IR Fa00 AA?

2mA 2%x10™3 R

— —
—

II: 7l n = S00pA  500x10~6 llSUDmﬂUUG
BT @Y, R = — = 2= = 100 2mA 15001A
; n-1 4

GFf6 60mL SFeET H,S0, BITE B30 0O 43.7mL SASTTF 0.103 IS NaOH BaUe/ eTaie =41 H,50,
RN ERGEITESEEED
YI: H,50, + 2NaOH = NaS0, + 2H,0

2V,M, = VpMp=>M, = ~2 = 2222 = 0,0375(M) (Ans. )

T 9, TR @A @ HEGTE! SR O 16 ST ©F, T9g €32 519 G 5.6, 1.05kg/m? 932 1.1x10°N/
m? | TR (TR STt 1o 3

1.1%x1019x5.6x10~3

. — e ERT — dRT — = 6
Y. PV =nRT=P = v qP, T= dR e 7.05x10°K

A ST ©F, M = 5.6x10~ kg mol~1; ¥, d = 1.05 kg/m3 @32 519, P = 1.1x10°N/m?
&AW CuSO, T 94T At 0.40 ampere R @ o1 vfert 36 v 21X = 0.80gm Fim o=t =)
FITA SGS AME goirE Fdg w1,

0.8

= 3.33x10~*gm/C

0.4x(1x60+40)x60




= 7.4 WS |HCO3] ¢ [Hzcoa] aaaawr@w (k, = 4.3x1077)

A HCO5 = H* + HCO3 ; pH = pk, +log I'f: d'|=> 7.4 = —log[4.3x10~7] + lo 'ﬁa:fl'l

= 7.4 = 6.367 + log oo sy SR 7.4—6.367 _ . IHCo3] _
®Bjacia] = jaca) 10 =10.79 . 1hco.] 10.79

41, O3 (THEFT G TSR 6930 IgA| T© I27 7 & (ST GeR coufermel 2R A 10% @ CTeT
SH?

Y= — c 0.693 _ _ o 1
o =10%=01; k==>=10"*yr" . t = {In-? = == In 10 = 2302585 yr (Ans.)

42. (i) RIREITR ©F el 521 caiRmiea oiqs 28 5 R A «a Sl st ¢ ceifos i =
(if) AT R o &)
MY () n=28; Z=52; n+p=2Z=52 LA=P=24; e=A=24
5. p=52—28=24 . SR FAAs= 24, ZCETAGA AT = 24
(ii) Cr(24) = 1s? 252 2p® 352 3p°® 3d° 4s!
43. (i) p QIR f (O AT FUL I HAQD A TNCR?
HAYIF: p = 3 orbitals; f— 7 orbitals
(i) SrefTe SR TIRGTEm @ SRR A aws W01 20T aTR (TS |
TAE: N(7) = 1s? 2s2 2pl 2pl 2pd; Al(13) = 1s2 2s? 2p® 3s? 3py 3py 3p:
44, TRTE Y / SIFGTES wiEd *feq €S TR TEe |
F~, H,0, NH;, OH~, C03%-

HATYIA: gfre K,
=19 @ Wi’ H,0 < F~ < NH3 < €03~ < OH~ | HCO3 = H™* + CO03 4.7x10711
SR SCEA §EY HF > NHf > HCO3 > H,0 HF = H" +F~ 6.7x107*
+ % —
S I HEF F- < NH; < C03~ < OH™ @ H,0 fAf¥rn NH} = H+ NH, 5.7x10-10
H,0 = H* + OH™ 1014

SRR W e 2 SR wRb 8@ ¥ K, 7 TIE N (AT 2WE T A SYSTE STl ST 0
R St reTt T | SR FAGTER w1 I SIge! & S Sret! A |
45. (i) (¥ afre el Siea OoF ‘afte @ a1 T o A fere
SaYE: YREERE ffe (HF)
(i) «fbe @ AT ATSIFS AR TR0 7
STAYI: Si0, -+ 4HF = SiF, + 2H,0 ;SiF, + 2HF = H,SiFg
(iii) TP FTCHD OT% AR TEARE A o7
ST FERTAN ST YRGS (Gal Bk FH6 Ca(H,P0,), . H,0
(iv) @ MY TR e HCI AT ~ifev FRatrepracet 1eejRe 2 1t (#7?

gt HCl AfATs @3a
46. A T A

(i) $He+ 4N ="30+1H

Al;ﬂzﬁa - o o
(ii) N, (g) + 2H(g) R~ 2NHz + 92K] mol~? (450° — 550°C SI¥¥i@l Fe &oi<9)

(iii) Sn*++* + 2e” - 5o

(iv) 32 gms of Ozcontain 6.023%10%% molecules of oxygen.

id = Molecular Weight
(v) Equivalent wt — g aci Number of replaceable hydrogen atoms in the molecule

TSI ST TR ST




BUET oRIaes B q

47. (Dﬁﬁﬁwﬂmﬁﬁmmﬁﬁmﬂﬁﬂ%Wiﬁﬁ| L R o 14653 TR P R
HANYI: @IAIGIETSS, (Na,0. Ca0. B203. % Si0;) Ly BT
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53.

34.

33,

56.

37.

(1) TRATFT ST AT 757 xﬂﬁﬁﬁﬁa?;m%a
TAI: 16,979 (DNA): o wfr azm feRer afe
(i) SR BTy oo T Jeeatar & 62 aﬁaﬁﬂﬁwwwmmﬁmﬁﬁ?

FANT: (a) SO I (~NH,)  (b) a?réﬁﬁﬁaim (—CDUH)I "[E‘I‘ilﬁﬁ“ﬂ&lﬁﬂl

(iii) *HCTIES 57

A WWW?TWWWWWI (Wﬂ%ﬂmﬁtavrb?n
o — D glucose 933 B — D glucose aaﬂwwﬁﬁﬁﬁw (HDWEI'th PTUJEEUUHSJ mﬁ*ﬁmﬁ?ﬂ
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< CHZOH
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, |3 Dglucﬁ;.;e 1

H. X

Change the following sentenr.:es as dlrected

r L]
gy o f
A

(a) I.EIS])][E of being ternbly unhappy, he dld Imt blame the gul (Make it cnrnpuund)

Ans: He was ternbly unhappy, but he dld nnt blamc the gu'l
(b) They cried at the tnp of their vmce (Make 1t cnmplex)
Ans: They cried whmh was at tha tup of the:nr vmce

(c) I am so exhausted now that I can hardly talk to }ruu (Mﬂke 1t 51mple)

Ans: Now I am too exhausted to talk to yﬂu

Ans: The pat:lent had died befnre the'doctor | came

(e) - She is so c]cvf:r that she wﬂl see thmugh ynur ‘tricks. (U se t{}u---"-—tn)

Ans: She'is too cIevar nut to see thmugh your tru:ks
Change the narration ni‘ the fullnwmg" ' 5 ly2
(a) Oncelsaidtoa Tittle glrl. "What is Your mother's name?”

Ans: Once I asked a little girl what her'mothicr's name was.

(b) Tuhin'said to his companion, "Let us not miss the opportunity. i

| !(dj_ The patient (dlt:) before the doctor came. (Cnmplete the sentencc by usmg the vcrb ﬂlE: bracket)

Ans: Tuhin proposed his‘companion that they should not miss the’ nppnnumty

(c) He said to me, "Don't do it again:"  *

Ans: He forbade me to do it again/He told me not to do it again. .

(d) The man said, "What a fool I am!" SORTOITE ARB BRI
Ans: The man exclaimed in wonder that he was a great fool.

(e) "My dear friends" said he, "We hayve come because we have a message to give you.!"

l

Ans: Addressing the persons spoken to as his dear friends, he said that they had come because the:y had a

massage to give them (the persons spoken to).
Fill in blanks with appropriate prepositions:
(a) The tiger fell upon the prey.
(b) Man aspires afterriches.
(c) The father has no authnnty over hIS suns |
(d) He is proficient in English.
(e) He bequeathed his all to me.
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58 Translate the following into English.

59.

60.

(a)

(b)

(c)

memﬁﬁmwmwﬁﬂmmu

Many days have passed since I saw you last.

oEf® Mo Fact QIF T WE QER|

There was a load harvest this year due to prolonged winter.

S{iTR I3 YRS =1 A ©IR MieifeRE |
I was running lest I should miss the bus.

(d) Y ARSI (Y ST TSI 3 #ii 20 ST |

(e)

1 saw that our car had come passing the forest.

QT TR 7 e ST of fof wiess =)
He did not know whether he would go ahead or turn back.

Make sentences with the following:

(a)
(b)
(c)

(d)
(e)

His honesty cannot be called in question. |
Most of the people of our country cannot effort to have three dquare meals a day.

The utilities of high tech electronic equipment's are increasing by leaps and bounds

Call in question

Square meal

By leaps and bounds

as the technologies advance.
Give ear The students gave ear to the lectures of the honorable IEEE Fellow.

At arm's length —— The University is at arm's length from our house.

Read the following passage carefully and tick (V) the corresponding box that chooses the correct or the best

one from the four answers following each question.
In 1920, after some of their years of problems with disease, high cost and politics, the Panama Canal was officially

opened, finally linking the Atlantic and Pacific Oceans by allowing ships to pass through the fifty mile Canal Zone
instead of traveling some seven thousand miles around Cape Horn. It takes a ship approximately eight hours to
complete the trip through the canal and costs an average of fifteen thousand dollars, one tenth of what it would cost
an average ship to round the Horn. More than fifteen thousand ships pass through its locks each year. The French
initiated the project but sold but their rights to the United States, which actually began the construction of the project.

(2)

(b)

()

(d)

The word "locks" used in the passage is closest in meaning to —

(i) Securities (ii) latches (iii) lakes (iv) canal gates
On the average, how much would it cost a ship to travel around Cape Horn?
(i) $ 1.500 (ii) $ 15,000 Y(iii) $ 150,000 (iv) $ 1.50,000

It can be guessed from this passage that—

(i) the canal is a costly project which should be reevaluated.

(i) despite all the problems involved, the project is beneficial.

(iii) many captains prefer to sail around Cape Horn because it is less expensive.

(iv) problems have made it necessary for three governments to control the canal over the years.

The word "linking" used in the passage is closest in meaning to—

(1) controlling (ii) dispersing (iii) detaching V(iv) joining
All of the following are true except.

V(i) It costs so much to pass through the locks because very few ships use them.

(i1) The United States received the rights to the canal from the French.

(iii) A ship can pass through the canal in only eight hours.

(iv) Passing through the canal saves thousands of miles of travel time around Cape Hom.
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